Name:

Date:

Teacher:

Class:

27 Addition and Subtraction 504

Calculate.

Why did the elephant stand on the marshmallow? So he
wouldn't fall into the hot chocolate.

L. 6,292 4 9,133 > 1,320 & 4,833
1,151 1,112 1,210 1,712
! 1,067 8 6,835 ¢ 6,450 19° 7,508 1. 2834 12 3,411
+ 1,720 + 1,064 + 2,202 1,251 2,131 1,305
3. 5886 14 8,118 1> 2,740 1 72051 517618 4262
- 1,174 - 1,100 - 1,130 1,100 1,175 1,131
191,103 200 4569 2. 3,896 ¥ 4592 28 5746 %4 9,074
+ 7,611 + 5310 + 1,002 3,003 4,120 1,613
25. 8,858 %6 3,151 %" 4,369 %8 1,020 2 6,321 30 576
- 1,717 - 1,141 - 1,114 1,010 1,211 331
sl. 3,187 %% 7,092 33 2321 3% 9399 3 4905336 7416
+ 5,701 + 2,405 + 1,400 1,000 1,033 1,550
7. 3,378 3% 47363 9,061 4 2161
- 1,174 - 1,124 - 1,051 1,120
© Facilitators Ferriswheel WS#:A&S504 Score:



Answer Key

Date:

Teacher:

Class:

27 Addition and Subtraction 504

Calculate.

Why did the elephant stand on the marshmallow? So he
wouldn't fall into the hot chocolate.

L. 2,600 2 5,683 3 6,292 4 9,133 > 1,320 & 4,833
- 1400 -1231 -1,151 -1,112 - 1,210 - 1,712
1,200 4,452 5,141 8,021 110 3,121
£ 1,067 8 6,835 ° 6,450 19° 7,508 1. 2834 12 3,411
+ 1,720 + 1,064 + 2,202 + 1,251 + 2,131 + 1,305
2,787 7,899 8,652 8,759 4,965 4,716
3. 5886 14 8,118 1> 2,740 1 72051 517618 4262
-1,174 -1100 -1,130 -1,00 -1,175 - 1,131
4712 7,018 1,610 6,105 4,001 3,131
191,103 200 4569 2. 3,896 ¥ 4592 28 5746 %4 9,074
+ 7611 + 5310 + 1,002 + 3,003 + 4,120 + 1,613
8,714 9,879 4,898 7,595 9,866 10,687
25. 8,858 %6 3,151 %" 4,369 %8 1,020 2 6,321 30 576
-1,717 -1141 -1,114 - 1,010 - 1,211 - 331
7,141 2,010 3,255 10 5,110 245
sl. 3,187 %% 7,092 33 2321 3% 9399 3 4905336 7416
+ 5701 + 2405 + 1,400 + 1,000 + 1,033 + 1,550
8,888 9,497 3,721 10,399 5,986 8,966
7. 3,378 3% 47363 9,061 4 2161
-1,174 -1,124 - 1051 - 1,120
2,204 3,612 8,010 1,041
© Facilitators Ferriswheel WS#:A&S504 Score:



